WSi Critical current measurements

Width (SEM Line resistance (R) Saved file in overlord:
measured) [um] [kQ] Y:\Measurements\2019.dir\11_02_19
cooldown\KITWA 001 at MC\Second
measurement
1.01 1 Scope_4 1
145 4 Scope_3 2
218 1 Scope_2 3
197 4 Scope_0 4
198 4 Scope_1 5
Measurement setup:
At 4 K plate At MC (18 mK) plate

Subscripts:

d — device

s —source Oscilloscope

| —line measuring voltage
m - measured Vin=Ve+V

From the above diagram we see that
Vin = 1g(R; + Rg)
Vs =Ia(Rs + Ry + Ryg)

it follows that I, = = and Vy = Vy, — IR, = Vi — (% — Vi) o

We plot V; and I; for the five traces.



Current through device [A]

Current through device [A]

IV for trace #1
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IV for trace #2
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IV for trace #3
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Current through device [A]

IV for trace #5

Voltage on device [V]




